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(3) NF A~y b
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X X
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500
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1.203
3. 500 = 2.1
1. 205
1. 186
3. 750 = 2.3
1.232
1.215
0.625 = 0. 45
7. 250 = 2.0
Y = 8.4 m3



4) Evqv7

© = (0.700 -+ 1.719) X 1/2 X 0.400 X 0.500 = 0.24
(5) A&ERL [ BEThE ]
= 1.971 X 2.4 X 0.300 = 1.4
2-2.¥9La>52 ) —+F [ock=18 - N/mm2]
V = 5.600 X 10.500 X 0.100
— 1/4 X =w© X 1.20002 X 0.100 X 6 = 5.2
A = 52  0.100 = 52.0
2-3. a9 1)— +&EE
i & X ga i % ® & [
N7 Nk o ck=24 + N/mm2 8.4 m3
BX B N 81.3 m3
7 e NS 7 N 0.2 m3
S = L n 1.4 m3 ¥R T T
7 - F 7 N 83.4 m3
& 7t I 174.7 m3
WLarrzy— | o ck=18 * N/mm2 5.2 m3 52.0 m2

,50,

m3

m3

m3
m2



§3. B #B

3-1. — R #

I

(1) 7—F 7

@

(5. 400

(3) RXTF~y k

®

@

®

®

BB Rz 2

®

1. 475
1. 455
(1. 475

(1. 265
(1. 246

(1. 179
(1. 159
0.579

(1. 230
(1.212
0.579

1.443
1. 428
(1.443

(0. 300
(0. 707

X + X X X

X

+

+

+

_|_

10. 300)

10. 300
10. 300
1.900
1. 900)
7.250

0. 425
0. 425
1. 455)

1. 179)
1. 159)

1. 230)
1.212)
3. 500

1.233)
1.218)
3. 750

0. 625
0. 625
1. 428)

0. 800)
0. 300)

X

X
X

X

2

X

1.500

1/2 X 0.028 X

1/2 X

1/2 X
1/2 X

1/2 X

1/2 X

1/2 X

1/2 X

1/2 X

1/2 X
7. 250

,51,

. 500

2. 000
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4) Evqv7

@ = (0.700 + 1.719) X 1/2 X 0.500 X 2 = 1.2
= 0.700 X 0.400 = 0.3
= 1.118 X 0.400 = 0.4
A = 1.9 m2
(5) AL [ B3 T T
= 1.971 X 0.300 X 2 = 1.2
= 2.400 X 0.300 = 0.7
= 1.971 X 2.400 = 4.7
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3-2.¥Lavy ) —+rER
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B B U 99.6 m2
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(1) AR )
vV = (0.700 + 1.719) X 1/2 X 24.5kN/m3 = 29.6 kN/m2
i) E hl = (0.700 +  0.700) X 1/2 = 0.700 m
SR E h2 = (1.719 + 1.719) X 1/2 = 1.719 m

(2) TiEKS

R ¥Rk OE & R ESH>4. O

H = (4895 + 3.895) X 1/2 = 4.395 m
< XMW 1 0 40kN/m2LLF

s TIERGORE @ < SOHATET

(3) PR T22ARg
Vo= (4.895 + 3.895) X 1/2 X 0.400 x 0.500 = = 0.9 Z%m3
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(1) MRERHE [7/0-K VEEFL ¢ 150]
< BIPMERE L1 = 0.320 X 4 X
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(1) 1A%V JRHIE

FREH DO R TRET 2)

EHEll i T AR
THEXS5 } = ,k LiX ai
Li (m) ai
O +wE 10. 841 1. 00 10. 841
@ gk 4. 886 1. 80 8. 795
15. 727 19. 636
(2) i TAA% (a)
Y Li-ai  19.636
* SLi 15. 727
(3) #REIE &
1) + w
VvV = 1/4 X X 1.20072 X X 6
2) g+
V = 1/4 X X 1.20072 X 4.886 X 6

(4) ERLEE
1) = i+

vV = e +

(5) MIER

L = 9.000 m/A

6) =7 Y—Fh
V = 1/4 X

X

XV = 11.0 m3/A& X

(7) AUSALEL
n = 6 XK

(8) =7V — MELFR

VvV = 1/4 X

XV = 1.4 X

X
6 A

X

1.200°2 X

6 K

1.20072 X
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9.000 X

1. 200

T8 V=73.6-(1/4x 7 x1.272x5.527x6) =36.

1.08

1.25

73.6

33.2

33.2

m3

m3

+66=8 m3
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11.0
66. 0

1.4
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m3

m3/ A
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FLIA D BHE1EY Y
D13 t 0.010 0. 060
D16 t 0. 293 1. 758
D19 t
D16~D25 D22 t 0. 685 4.110
ST Bt H D25 t
/NEF t 0.978 5. 868
D29 t
D29~D32 D32 t
/NG t
B E R t 0. 988 5.928
g oM B SD345
L& T Bk SETFTHUR SR 2> Z DN T« FHST
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9-3. miIAEETGHEEER
(1) EBRAS E KT

F AL O EAMMT 7L
(2) EEkfH L HHTRY >
[FriAY b ]
& Rl E & A | BfESR | 1IRYVERE| H 00&®
(mm) (K) (kg/m) (kg/A%) (kg)
L-65X65 X6 2677 5 5.91 15.8 79
U v bk (D224) 96
(1o ]
& 5l E & A | BfvESR | IRAYVERE| H 00&®
(mm) (K) (kg/m) (kg/A%) (kg)
L-65X65 X6 2677 30 5.91 474
U v bk (D22H) 576
(3) A—H—
(1A% ]
& & A ¥ | BATER | IAYVEE| & &
(mm) (K) (kg/m) (kg/A) (kg)
U v bk (D22H) 40
B 30x 4 90 40 0. 942 0. 085 3
A~—H—D13 300 20 0. 995 0. 299 6
(14 v ]
& 5l E & A | BfvESR | 1IRYVERE| H 00&®
(mm) (AK) (kg/m) (kg/A%) (kg)
Uy s (D22H) 240
B 30 x4 90 240 0. 942 0. 085 20
A~R—H—D13 300 120 0. 995 0. 299 36
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§10. H#EhRT

10-1.a>9)—FrI SR E [ 0 ck=24 + N/mm2]
Vv = 7.250 X 5.000 X 0. 350 = 12.7 m3
10-2. 8T
A = (5.000 + 7.250 4+ 5.000) X 0.350 = 6.0 m2
10-3. %M T
il a1l g% w5 5l BT = &
D10 t . 005
D13 t . 120
D16 t . 567
D19 t
. D16~D25 D22 t
— W ER T
D25 t . 508
INEF t . 075
D29 t . 262
D29~D32 D32 t
JNEF t . 262
&k (i) % B = t . 462
g% M EH : SD345
O - & . FEoSEINT - f1T
10-4. B#b#+ [t=20mm]
A = (0.350 + 0.500) X 7.250 = 6.2 m2
10-5. @Y
« HANRALTF (SGP50A)  wl = 11.0
s Xy v/ (SS400) w2 = 1.0
SW = 12.0 kg
10-6. BRAS 4K
A = (5.000 — 0.480) X 7.250 = 32.8 m2
10-7. 8 &> [t=30mm]
V = (5.000 — 0.480) X 7.250 X 0.030 = 1.0 m2
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§11. EELXT

11-1.k 38
(1) WE+ [AfEIEL]
[ p 2]
V = 14.800 X 7.600 X 1.700 = 191. 2 m3
(2 wWE+t (B ]
[FEEHEA]
V = 14.800 X 7.600 X 3.300 = 371.2 m3
Bk fefisi]
EExm—-—-g ﬁ}
+F =500 FB00——7—0-04+ 4=6-1o
(4) B+ [ChEEk]
[EER] RSGUIEIHERWELY, V=66.99+161.39 =228. 38m2
=HeEHER—
1./4 1 E h Yo a — 102
AN VA 204 4 3
(5) RIEEFT
XV = 191.2 + 371.2 + =6 + =224 = =59 m3
228. 4 790. 8
11-2. EmEEIE
V=5.600x10.500—1/4x w x1.20"2x6 =52. Om2
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PERRE &
s T—=F T
Vi= 5HHEELD = 83.4
EXRE
Vo= FtRELD = 81.3
cHLar sz y—rhr
V3= 5.600 X 10.500 X  0.100 = 5.9
< JE O B
V4= 5.600 X 10.500 X  0.200 = 11.8
V= 182. 4 m3
V = 14.800 X 7.600 X 5.931 — 182.4 = 484. 7 m3
11-4. 5%+ (#&E=E  (=0.90)
V ==%F9+=4—— 484.7 X 1/0.90 =  =—252=8m3
790. 8 252.2

,65,



N
4

11-5. ’i24R~F

ErEY) 00L|L  (%rESd) 00€E

(Er830) LTI

—~

FEG) 1705

(FE#) 9801

PErESY) 00L|L

(%rE59) 00¢€ (&r830) L21C

(F E4) 1¥05

(FE#) 9807

%

| |

_ _

1 1

_ _

1 1

| :
= I — S~——hkF——11"

g NI, I i
_— 1 1 __
| | i
[ | =
| | | | _+_
[
] ] ]

] *, . n n
0001
00L1 00€¢ v 9807
(#£5)00/1 (52 |vs
L18¥ 91¢€Z

-
|

14800
' SRR
I
e e

IANNANANANANANY

||||||||||||| 4.
I Il
“ n“-mmmmmw
_ - - —
| ===
| £“|"HHHH!
| __
" 1
H H | I
_ I
| __
| __
| ffE====a
_ imE==== 3
_ I I——
_ ] 1
_ r—_lu""""2
[ I
[ I
_ I
_ |
“ 1
Ho R
| l“.mmmmmw
“ === )
| _,_T_ﬁulllllll..:
_ _.—_Iu""""!
| 1]
|||||||||| LlllllLL.

0001
00L1 00€€ v 9807
(B Z5)00L!) (#E=D) LTvs
[Z1L
o //
\
N
\
\
AN
\
/é 008¥1 ///
AN
9 ||| (WL §=U ‘WO00 " 1=T1) e I M X g \
sl = 00} N
bmHV/ ¢ 0SLEl GH1 \
. Qo)L _ 000} . N
ooog |#LkL] | [pool o008z DOON LY L] 0002 AN AN
- N
Se N
= i ;M_ #® 3 //
g g i3 /
> —_
= 8K HWmewwwwmmN nMUWHWAMMWW N N
3 lﬂ‘]ﬂu e o o T e .._wuﬂ %x ﬂ/% N
£ S = I8 =2 3 = \
> XL @ | N I —& S
T 2 i O -
< L / 7R \n_r/ /\l_./ X 137 M c
£ o 1 — | A—+—+ 1 TS =
S i L u RIS WA b S
o || l_ _|_-|| A\ ] _||| 1 == o o
.uhmw T T |
| N i1 e | | M
_ =y
&= - ) _ _
E\S| = \ +
LS =
|
__ =7
T AN 9= B
~ M-
// (=] o
~. m R N
2 Tha x0T
< o ~ — e ——
¢ i x o _L-—"7 B
e -
2 ™
—_ X
L =
[3e)
+
[
00¢¢ 00€0! 00¢¢
(k€=U ‘WO00 "Z1=1) 7% I M X% 3
000§ 008Y1 000G
118Y 008Y¢ 118Y

,66,



§3. A2t5&
3-1. fAR~Ti&

=
ix LT

B L = _q-
A2 & ax S=1:100
1] )
A-A B-B
Bor-No. 1
GH=5. 4m
Dep=19. 03m
14800
7600
N &
30 40 50 5.541 # 22 = = HEE S NN NN SRS 5
[ I
28l s = g £g . : T T £
S e RE B e |8
= H—= = - A=
B z = & m
2 2 = 2 g I I 2 g
S 5| s 5| =
[ g e g
0.73 2 = g I I
DL=0.000 3 I = | =
o 7| o ! Q ?ﬁ e @ %‘5‘2
2 8 | % < g ¥ <
S i g & S o 5
L = = s =z= = &
i i gl = = s 8l =
A < ! ! i
s 8 i | i
w ] 1
[l 50/14
50/16 wTb2 § ! ! ! !
P
4
50727
.| 50/20
50 w I X F v 7
.| 50/29 . . s e
To [ECEE S BRI RIRERS B m e
L s0/23 F @m = $=1:150
c-C
50/3
| , 5. 841 5.841 \/5.841 i 5.841
| 5 541 S 5541 =) =3 5 541 S
\ / ! g ! g g ! g
\ o ‘ S = = = = =
| ®12 e 251 ‘ st =
7’ < - =3 =3 =3
\\ W s Il 73 81 - 8| g g ‘ 2
/ o ‘ - « - ‘ -
|
\ // E2ES ] =1 f § :7 — r
\ ’ B 8 sl sl =
) A = 2 g =
| 690 7 pskis WL+l 420m APk WL+ 1. 420n - 7 pskis WL+l 420m - ~
\\ AR IR (L=427000m, n=194% = =t H— v
\ 8
) o 00 2P 2000 DL=0. 000 | | bt | _
5
// / VAL ‘ ‘ -
/
/ // 0%i1%: or-Nay, _1.586
/ H-300k3001 Fi-300x300x10x15 7, | | T -
/ / _ L» o
/ / > - & \ \ \
! ~ ’
/ I
! 1 - o
{ e B MEREEIHORT Y TTHRT ¥ T TS,
2 / S g |
5 / o —
7 E = 7
< ! <
g ! g TEIHER A4 TaNUTIH] RETH AR TE
B B
§ <8 3 " A e A 5848 & [ & 3 HERE | ALYKE | A B | W B K REES war | BR[| A8 [RGRRES ] EBER
= 4 = _ . SRS ! el as| L0 | g ¢ i T a- Eo
= H— 35 x35Px 10% 157, = @ % & m o 12 000 60.0 720.0 12 80 640 y—2# RES|THES| 4 g | @ (/) (kN/m)
E | § E B oE L H-400X400X13X21%L 7 350 200.0 1.470.0 6 8 820 WY —R# FORB B BHEL 2 0.0 25.0 17.0 5, 600
! A
K '\ 5.76 8 K] " H-350X350X10X15FL 13 750 150.0 2 062.5 6 12 375 " FEQRB As MHt 8 0.0 31.0 19.0 37,800
& | @iy wf &| 3)
| (IR = P E H-300X300X10X157, 6 150 100.0 615.0 6 3 690 " FOR| wb2 | B+ | 23 | 1080 ] 21.0 20.0 22, 400
\ J *ﬁ/ = E@R Tb L 86 241.0 21.0 21.0 64, 400
2 RS o K 4T B H-300X300X10X15FL 210 100.0 21.0 24 0. 504 "
\ =]
o g ! mg \ X pEEE < . " " 1830 100.0 183.0 12 2 196 "
0.60 o~
|
108 225 ke nEs B R 5 2
|
| 14. 800X7. 600
\ ¥ I % & |40 FE waTREN % %
\ & (MR W= 80.640 t P H=7. 124m
\ - F
\ 5 T M W= 27585t * o WL+1. 420 (LAY AN =AM KEN
T BIEH W W= 6.068 t (E 4 x0.22) . BB PRIE3A) e = =
i BIEA(B) W= 1.103 t (£ #B41 x 0.04) BRERGS IE@F Vb %sﬂ%@ i F L]
\ BHEE V115307 t IEEE A%
\ . ‘ REHE Syky - LY—L &SR A2E B RERE
\
ol | | mann HEHEALE
! * i EEY # R =
1
! ) )R (L0, 50m) - KT M (S (L-2x 0. 50m) TH LT 5., HRELHAE 10. OKN/m2 HEE S & 13 E % 2
\ ZRTHHREES 150, 0KN
1




®1.29

e —- e 4 Iy
1 Iy
r>|||||_ __
| __
| .+_
__ I
S — \Illl— “.“1“1
| 4
| Iy
R !
S
LO|
s
>
.T_
£
[
72
.
Vs
™
~
o
/: ﬂ 00871 N\
o :quc,soo:_nsﬁa%%% AN
AN
05LEl N
. 0q0L 000} ) N
000% |F1H! 00 0082 001 SLY1] 0002 N
‘ o
= << \
3 .l_ b = N
= % o
S #x Olf %
E e =
= B n S =S .. e = =
= A > \ 1 =3 Eﬂ o =
) T ¢ _ N M =—& s
ﬂ NQ = O_ 7 ,—‘ W/n/.\\, N\ m m ﬂ
f=4 | > s Y,
£ S | L ' xh._.wv ' hﬁwﬂ \ T8 £ N
] 1 ) e T ] A
S I Bl T~ 77—~ I \\c = ol © I\LA\
2] L f g N
= J7ANY o | —— 3 5 g N
I o~ 1 e ] \_ i o ~ /‘
| AT\ AT~ \._. H = — N\
] > St =+ o 3 .
2g 0 Wi
1 A | % =
— + - -~ = - - - —
S ~ Wl b | P
<> 3 <gls = e e N R iy
~—_ w EM S Y g
< T & s e
~ S =~ —_ o ——
i T —— x LT B
= | | TTmem——— =T
[f2]
o
X
(=]
[¥3)
o
I
=
°
0022 00£01 0022
(W [£=U W00 "7 1=1) & I M X 5
000§ 00871 000§
118y 00872 118Y

,75,



3-2. RE&T
(1) SR

(2)
1)

2)

3)

(3)

YA X
T K
G
&

e

i
kS L
YA X
R A%
HE
YA X
e, Ak
HE

)

72

)
Hop R
MR, AHK

HE

KITH
YA X
e, Ak

=

=

YA X
e, Ak

=

=

HEEG

= 7!
= 12.00 m
= 112 ¥
= 12.00 X
H- 400 X
L= 7. 350
W= 8. 820
H- 350 X
L=  13.750
W= 12.375
H- 300 X
L= 6. 150
W= 3. 690
H- 300 X
L= 0.210
W= 0. 504
H- 300 X
L= 1.830
W= 2.196
£ T NI
FOE M W=
W=
W:
& it W=
g M4 W=
gl A B) W=
o H o®m XW=

112 X

400
m/ 7%
(t)

350
m/ A<

300
m/ A
(t)

300
m/ A

300
m/ A

I 7Y
H-300
H-350
H-400

,76,

0.060 t/m

80.
6
12.
8
27.
. 069
. 103
115.

13 X
6 A

10 X
6 A

10 X
6 A

10 X
24 K

10 X
12 A

640
390
375
820
585

(t)
(t)
(t)
(t)
(t)

397

21
XL

15
XL

15
XL

15

15

SY295 )

80.640 t

44. 1 m

82.5m

36.9 m

(t) (FEEFRH x0.22)
(t) (FEEBEL < 0. 04)
(t) (fKikEE)



(4) BRITIAL R, 5lEh& &

D) fTidHk
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(6) ekt

Vi = 1/2 X 36.5 X 4.811 = 87.8

V2 = 24.800 X 36.5 = 905. 2

V3 = 1/2 X 36.5 X 4.811 = 87.8
XV = 1080. 8 m3
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